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w5 | mms (mgap RS T e | %) B g | WECRUE
1| NEET | 2/9 | B/ 66 (ZZhix | 110 | 50 T 198
2 | INRET | 2/15 ]R3 64 Eipkr 86 16 i 1880
3 | /MEHET | 2/19 L 67 (FTH7%E | 118 | 40 i3 208
4 | /NARHET | 2/26 LA 67 [XZH#iE | 105 | 35 i3 16H
5 | /NEET [ 2/1 Al 66 FTH7% | 95 35 i3 208
6 | /INEET | 2/19 AL 66 [FThAr | 105 | 50 | i# 22H
7 | /MERET [ 2/19 EX 66 [FTH7% | 105 | 45 i3 28H
8 | /MEET | 2/21 AL 66 [FThh | 85 | 30 | i# 20H
9 | /MEET | 2/21 AL 66 [FThir | 85 | 25 | i 20H
10 | /NSET [ 2/12 L1 64 (FTH7iE | 115 | 42 i3 19H
11| /NRET | 2/2 MY<F 66 (47 | 100 | 30 T 1880
12 | /NRET | 2/2 MY<F 66 [FTH7% | 90 25 i3 1880
13 | /NRET | 2/2 MY<F 66 [FTH7% | 90 25 i3 1880
14 | INGRET | 2/15 BiK 66 [XZ#47%E | 105 | 35 ;3 158
15 | /NGRET | 2/28 | /ME A 66 4% | 110 | 40 i3 168
16 |=HAH#T| 2/20 FZHT 67 [FTH7% | 90 40 i3 18H
17 =B AHET| 2/3 izls) 67 [FTH7% | 110 | 55 i3 208
18 =B AHET| 2/5 izks) 67 [FTH7% | 100 | 50 i3 218
19 (=B AHET| 2/8 izks) 67 [FTH7% | 90 40 i3 208
20 |(=HAHE| 2/8 iy 67 [FTH7% | 100 | 50 i3 15H
21 |=BAHET| 2/21 &l A% 67 [FTH7% | 80 22 i3 15H
22 | 4iEET | 2/26 | A 53 [FTH% | 80 20 T 178
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